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Sr Questions Answers Choice

1
Choose the one which best express the meaning of given word.(SYNONYMS).
Abhor

A. Crave
B. Reconcile&nbsp;
C. Detest
D. Rude
E. Admire&nbsp;

2
Choose the one which best express the meaning of given word.(SYNONYMS).
Abeyance:

A. Conclusion&nbsp;
B. Acceptance
C. Suspended
D. Attachment
E. Approved decision&nbsp;

3
Choose the one which best express the meaning of given word.(SYNONYMS).
Abet

A. Encourage
B. Evade
C. Protect
D. Console
E. Terminate&nbsp;

4
Choose the one which best express the meaning of given word.(SYNONYMS).
Aberration

A. Absence&nbsp;
B. Appreciation
C. Anecdote
D. Deviation
E. Recommendation

5
Choose the one which best express the meaning of given word.(SYNONYMS).
Abduct:

A. Release
B. Arrest
C. Forgive
D. Join
E. Kidnap

6
Choose the one which best express the meaning of given word.(SYNONYMS).
Abdicate:

A. Give up
B. Imperious&nbsp;
C. Rude
D. Dissent
E. Accept

7
Choose the one which best express the meaning of given word.(SYNONYMS).
Abbreviate

A. &nbsp;Incur
B. Abolish
C. Shorten&nbsp;
D. Activate
E. Extend&nbsp;

8
Choose the one which best express the meaning of given word.(SYNONYMS).
Abase:

A. Humiliate
B. Elope
C. Calculate
D. Abuse
E. Abbreviate

9
Choose the one which best express the meaning of given word.(SYNONYMS).
Abandon:

A. Vacate
B. Foil
C. Lose
D. Gain

10
Choose the correct answer from following options.
There were angry protests from the redundant workers.

A. Preposition
B. Adjective
C. Adverb
D. Verb

11
Choose the correct answer from following options.
There was a reek of tobacco smoke in the cafe.

A. Noun
B. Pronoun
C. Adjective
D. Adverb

12
Choose the correct answer from following options.
He has become feeble due to his recurrent illness.

A. Noun
B. Verb
C. Adjective
D. Adverb

13
Choose the correct answer from following options.
The police have recovered the stolen jewels,

A. Verb
B. Noun
C. Adjective
D. Adverb

14

Choose the correct answer from following options.
The workers want high wages and the bosses want high profit-it is almost impossible
to reconcile these two aims.

A. Verb
B. Noun
C. Adverb



14 to reconcile these two aims. C. Adverb
D. Adjective

15
Choose the correct answer from following options.
The recipient of "Nishan-i-Haider" is given much regard and honour,

A. Noun
B. Pronoun
C. Adverb
D. Adjective

16
Choose the correct answer from following options.
A dustbin is a receptacle for rubbish.

A. Adjective
B. Adverb
C. Noun
D. Verb

17
Choose the correct answer from following options.
He came to me recently.

A. Adverb
B. Adjective
C. Pronoun
D. Noun

18
Choose the correct answer from following options.
My offer met with a rebuff.

A. Noun
B. Preposition
C. Adjective
D. Adverb

19
Choose the correct answer from following options.
The meeting was reasonably attended.

A. Noun
B. Preposition
C. Adverb
D. Adjective

20
Choose the correct answer from following options.
Only humans have the power of reason- animals have not.

A. Noun
B. Preposition
C. Adverb
D. Adjective


